Note to censor
We were briefed about how to proceed in solving the challenge we were dealt. The next week we started plan how to solve our task. None of us had any experience in the use of eclipse, and had to be taught how to simulate. We used a lot of time getting to know the software, and it took us another Wednesday to figure out that we had not received the correct data file. We lost two Wednesdays of work because of this.

After we got the correct file we started to work on solving our challenge. It was not until the Friday before our presentation we found out that the well, A-32CT6, did not have the correct historical production rates, but was limited to 1000 Sm3/day.

This was after making a first draft of the report. New rates would compromise all of our interpretations and results. That is why we decided not to make a new report with historical correct rates. 

We think that this error is significant for the end results, but the method for solving with other rates is the same. We think the reason for this error is due to lack of communication between us and our advisor in Statoil. But the error was in the data file we got from Statoil. Had we received the data-file earlier we may have spotted the error earlier and this situation could have been avoided.
